[$-HuyssbuFe Serbe 128

4 3>") Hy)= € e ; Xl'+4_70 ber X€R . M= R
X 44 /
M) >0 Pir x 9-00 und Hx)> +e0 For x> +oo

% Waoqr- Asymplote >/=0

b) H)() )(' S I]r =R

/

(i’ F(Y)-— Fur S > +0° g/'/f F(x) > + 02
X -0 '
Woagqr- Asjm_}o/a/‘ y=0
) Fly) = =%
i und )20()—->-oo FO'VX_P"OO

Hy)> 0 Fur dx->t0° )
Wwaoqv- AJ)/mlo/'oéc o >/= 0

d) M= 7-¢¥-10%°
Myl +00 Fur x>+
ée/’ne /4$y'”/ot‘0f6

und Hx) —>408 For B =2 = 0

Z) F(x) = /0)(44-6)(
)= +00 Fir x> +02 und F(s) 5400 Fiv X >-00

/(CI’nc 4$ymp fa/c

F) Flx) = -1 - X
ex

F(x)> 0 Fur =2+ und F()r) 2>-00 fuy ¥ >-00

Waagr. AS’}/mp /"m‘e‘ V=0

) F(x)= =ln(x) X  Pf= R \{0}
F(x)> - Fivr % >400 und F(x) nich
}CMI /innlbfdlfr

h) F(x)= _—""—-CXZ- +\{0} F(x) =0 bor X—?+9°
F“V X = -0 l.f[‘ F Hlfl'} 0’("\“4," Ag_ \{-;0--

() FOA= e’(-(h(—x); Pp =R\ W}/. Fx)50 For 5> - o0
und F st nicht gdelniet Far X9 +00 |

) debniev t Fav xo-o

voaqr. AS\/MPA!Ic \/:0

0. Fell



